1621303 20

fr=iferRaa usl & @ -
(i) ST3Rde HUfdd T
(i) faga Rrea yads

E

NT3025 NT3025 1621303

2019(0dd)

Time : 3Hrs. Sem. III - EC
Analog Electronics
Full Marks : 70

Pass Marks : 28

Answer all 20 questions from Group A, each question
carries 1 marks.

Tu-A 9w+l 20 ¥ @ IR T, UAS U BT A [ A5 2 |
Answer all Five questions from Group B, each question
carries 4 marks.
gu-B 9wt uig gl & SR <, UAD U BT AH 43b e |

Answer all Five questions from Group C, each question

carries 6 marks.

7u-C & it ufg 9ol @ SR <, TAS U & A9 6 A 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
TP YT & 9] 3 BT SR UP &) oiE (AR HH H)

BT a1fey, 3=gem 4 Wiid -2l ol 9ad 2 |

The figure in right hand margin indicate marks.
< ured & 3id Yuiie & qad 2 |
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9.

Derive the following relationship for a single-loop
feedback syst _A h mbols h
eedback sys em'Af_l-BAW ere symbols have

their usual meanings. 6
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OR (3121a1)

For the circuit shown in figure, if [;=1mA, V=3V,
L=5mA, V,=6V then find h-parameters?

I I
_ e
TWO - PORT

\ NETWORK Vs

fora 4 fe=g 1y uRuy & fog, sPR
I;=1mA, V=3V, L=5mA, V,=6V 2, @9 h- URTIex
DI AT BN |

I I

TWO - PORT
Vi NETWORK \%)
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(i)

(iii)

(iii)

(iv)
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fr=ferfRaa # @ @19 &1 $ufeiT sfsw
AHT 9 HRar 2|

(31) RC wufei

(@) crawHR Hufei

(|) s13¥de Hufdd T

(@) 379 A B3 T

............ is used to amplify low-frequency
signal .

(a) RC coupling

(b) Transformer coupling

(c) Direct coupling

(d) None of these

.................... $T AT fFr—agRy Reea
@ yasfq ¥ gar 87

(31) RC wufer T

(@) SBHR Hufel T

(4) s13de HufddT

(@) 379 9@ 313 T

The decibel gain of a cascaded amplifier is
equal to:

(a) Product of individual gains

(b) Sum of individual gains

(c) Difference of individual gains

(d) None of these
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OR (3121an)

Draw ac equipment circuit diagram for 1st stage
and 2nd stage of RC coupled two-stage amplifier

and find expression for its overall voltage gain.

RC BUAg TI—¥X yadha & 9o iR fgda
R & foy odlo uged ulRuer k@ Rad
MR sad Ayl giees 19 @ forg sfraafa
o B |

Find the efficiency of transformer -coupled class-A
power amplifier. 6

SRGHY HUs Fel—A UTaY URABTIER &)
JEAT Bl FATd N |

OR (3721dT)

A CE transistor shown in figure has following
h-parameters :- hje=1kQ, hg=50, hre=5x10'4,
hoe =2x107S values of Rs, R, and R, are 4kQY,
200Q2 and 6kQ respectively . Determine-

(i) 1o
(ii) A

NT3025

(vi)

(vii)

(vii)

(viii)
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a3 &1 YT 3R 3rSeye........... gfoRie
BT AT HRA W dgal 2 |

(@1) e —Ao fhsd®

(@) dreeo—IRS fhsd®

(W) dleeo—3ic fhsd®

(]) dic—3ic fhsd®

Tank circuit of colpitts oscillator consists of

(a) Two ganged capacitors and two fixed coils
(b) Two ganged capacitors and one fixed coils
(c) Only one fixed coil

(d) Only two ganged capacitors.

dledice JAflder & <o dfve 4

BIdl @

(31) <1 T duflex 3R < e Fargd

@) < A7 HuRrer AR e o
ddigel

(¥) dad UH e qargd

(]) ®aa < A7 IR

Which of the following oscillator does not
require inductor in its circuit.

(a) Hartley's oscillator

(b) Colpitt's oscillator

(c) Crystal oscillator

(d) None of these

P.T.O
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OR(3721d)
Explain positive and negative feedback.

qifsifew ik frifew fredd @ aarar &Y |

What do mean by push-pull amplifier?

9e-yd Yyagfs @ ATT AT FHSA B2

OR(3721dT)
Draw circuit-diagram of Hartley oscillator.

gIead ciferd &1 Ws aIRe R |

Draw equivalent circuit diagram of CE transistor
using h-parameters.

h-yRTHIER ST YAT H) CE cifoer &1
TIged uRug—sRE Rad |
OR (372rd)

Explain frequency response of transformer coupled
two stage amplifier.

NT3025

(x)

(xi)

(xi)

(xii)
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10
o o feme & aRuer &
ﬁ”rQ. h21= ............. ?
(31) 1
(@) —1
@) —1/2
(?) 1/2

On which of the following factor h-parameters
depend:

(a) Operating point
(b) Temperature

(c) Frequency

(d) All of the above

fr=fafaa # 9 foa gcal w®
h-uRrfex faHR &xar 21

(a1) warer fdg

(€) dmga=

() smafa

(%) Surqa g+

Which of the following h-parameter
represents input resistance.

(a) hyy

(b) hyy

(c) hyy

(d) hy;
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xx)  Pe—dNIT fhsdd BT AT B UR
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GROUPB

Answer all Five Questions.

afl gfa yo & SR o

2.

4x5=20

What do you mean by ideal amplifier? Write its
different types.

3t gyasfe ¥ MU T gHSA 27 U
fafr= yoRl &1 ford
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(xivy RC ®UAS T —A Yaeid &I q&dr

(xv)
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Bl 2 |

(31) 25%

(9) 50%

(|) 100%

(?) 3779 4 BIg T8

........... is due to unequal amplification of
different frequencies present at the input
signal.

(a) Phase distortion

(b) Frequency distortion

(c) Harmonic discretion

(d) None of these

.......... gye Rva § Hise fafr=
IR & EIA yaeha & dROT
grar 2 |

(31) @ fawmyor

@) smgRy fawyor

(@) smife fawuor

(?) 379 4 BIg T8

Which of the following coupling has
minimum non-linear distortion at high
frequency.

(a) RC coupling

(b) Tranformer coupling

(c) Direct coupling

(d) None of these
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